EARAROBEEIERT — 2 N— IBISH —F

201898 1H (£) 2@E/NE11H

BELY o msEisses 16007 T ¥ 5R3ME (BE) N>F

‘ [Rfg] 2 ‘ [EERRE] — | Z (&) 12000 =

[~®4] 1 7% 18,200,000 @ ~ 2 7 :7,300,000 @ ~ 3 7 :4,600,000™

4 7% 12,700,000 5 7 1,820,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s . 4 4 | B. 7UKRY S 1:08.1 8-7 34.1|107.4| 5 446 | BB (FR)
1510 T MY —=F T b 53.0 (=) 4g) | @R FITLYKIST 5747
LiwyAdyAR BOXEILRLX EvdLy RTr—L
Y — FILUE—BB : = HEMER (ER)
2l5lg| 7I1F1T7LT 1 i 5 il 1.(018).3 5-3 34.6105.1| 8 (ﬁg) Z\**%,‘g
RICIATA—h— B:TSAT4TINVZR s
S, x X o7 | BHE 1:08.5 7-8 34.6103.0 | 12 | 494 |BE—% (FR)
E=11 VAN 51.0 (11/2) (0) EXRFI=
LY v AT Ly h— B xER IS
s o = 5 # 5 | K& 1:08.5 12-8 34.3(103.1| 2 466 | /NEE (ER)
48|15 LI >AR=TZ 7 56.5 (F4<) 4e) | R TU=—>T7—4
R:Tv TRy b BiLA K-V —Hh— HET77—L
R t 3 | BERE 1:08.5 11-12 [ 34.4]103.1| 1 434 | RAER] (FR)
51714 IA(2>T%7 51.0 (7€) (+4) (¥k) R
L:A—-KpFa7 BT L EFEKS
; ft 6 | =X 1:08.5 5-3 34.8102.9| 6 484 | FINE (ER)
61817/ A~¥— MILAXR 53.0 (74%) +2) ;dll?ﬁ
L3>t 571L B:F-—F-—H-LZ TREF S
N N E B : = wEEE— (E®R)
7 6l x1vamTiray [B] o7 2a 1.(018>.7 8-8 34.7100.9 | 16 ;1_524) B
RixAavtoyy B:rryro—-7 &5
5 4 5 | FIHEZ 1:08.7 16-12 [ 34.2[101.1| 3 460 | BEFIERE (ER)
8 5| 72T 72— 55.0 (2 E) (-6) | FET
L7 RIS Y L—> BEIXVYFYIILALR THES
v S, o N 4 6 | JIERE 1:08.9 12-15 347|988 | 9 458 | TEEH— (EH)
of1]2|AHANY 5> 52.0 (1 178) (o) | MHEET
AR w4 =T Biax/vA EEpuL e
TS \ # 6 | HILELTE 1:09.1 1-1 35.7| 97.1 | 4 490 | IIHHEE (RR)
1011 | 1 77y 7 780—N— 56.0 (1 1/4) *+2) BlEx
LT w TRy b BNXUZRESY 2T I[EEye]
. . B . — SEETES
FEUEFNYTH > 6 ;ﬁéu (11019/43> 2-2 35.8] 95.1 | 11 (4844) %Iggg% (EH)
LANRZXTNGT B:F7—Fv Ty * Yriva G
E% . = = -5
F 457 vi5— [B] 47 gﬁ;@ 1(/(\15;:)3 14-12 [ 35.0| 94.6 | 10 <4+163) ;ﬁ% (E=R)
RiphINZ— B:FLINIL Blikae]
= # 7 | BERX 1:09.3 16-15 | 34.8| 94.6 | 17 | 504 |EIDEE (E®)
Fragy/ 54.0 (742%) (-q) | EHEREL
x4 ao49 Ry Byl — iy —=
S o . NI E&E : = MALE (FEX)
SIIN— K1) — Ly 4 5 Lon (11.019/.25) 4-3 35.9| 93.2 | 14 422)2 LU
R:Y9RG4 ISR BHHFLTaTY— AEHS
R HhfE : — EZRF— (FER)
2T U1 it 6 a2 (11019/47> 8-8 35.7| 90.8 | 13 (4_428) /EEE%?E
291 T hA—Td7—K—K B:HAL>rTLT7— HET77—L
=Rk : - HFHAET (EX)
O—t> 44— i 5 i (13.110/.23) 14-17 | 36.0| 85.1 | 15 <5+142) %EE&?
R:A—Y X424 B:4=/IT7€L> b BEZ %Y K
- N =HB :10. — . . REY (ER)
FAILEy2e4s [B] o4 e (12110/27) 2-3 37.2| 82.8 | 7 :356) #’I@E%ﬁ
RFAILANRTH— BFAILILFA 7 T LS
@ 71 L
) 45.7-34.7
NA>24 L | 12.0-10.4-11.0-11.5-11.6-11.6
® I —F—EBIERL
12—7—
23—7F—
S=57= 1(3,7)12(9,17)11(4,6,10)14(2,15) (8,13) (5,16)
40—+ — (¥1,3) (9,7,12,17)10(4,6,11,15) (8,14,5) (2,16)13
[ RN
B OB 10 810M 714K 9-10 2,290 e & 5-5 9,360 &R 9-10-11 100,780
% B 10 290M 10-11 5,510 | | B & 9-10 8,210 | | 3=EE | 10-9-11 435,860
9 690M 9-11 10,750 B H 10-9 13,1708
1 1,420

ABICOVWTRDTEEERROODE. TR LIV,




